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Fig. 3. The Courteous Courtesy Light circuit—built around a 555 (configured
as monostable multivibrator) that's controlled by the auto’s door switches—
keeps the courtesy light on for 30 seconds after the door is closed.

cuit. The 555 is arranged in @
monostable mode, andis figgered by
the door switches. The output drives 1,
which is connected across the interior
light switch. The interior light is tumed
on for 30 seconds after the door is
opened. If the door(s) are held open
for longer than 30 seconds, it will not
reset until after the doors are closed. In
that case, the lights go out imme-
diately.

One additional advantage also be-
comes apparent. Door switches often
fail because of dirt, which can cause
the lights to go dim or flicker. This circuit
needs only the shortest momentary
contact to operate, meaning that it
works even with dirty door switches.
And with abit of careful designing, the
circuit can be made small enough to
fit inside most interior car-light fixtures.
—Fred Mullins, Madison, Wi

Good thinking Fred! Keep on the
lookout for your copy of the Fips book.
It's on the way.

Signal Injector. In the early days of
radio, it was customary o simply put a
finger on the grid caps of the tubesina
receiver. That way, you could hear the
60-cycle hum. As the circuit in Fig. 4
indicates, we've come a iong way,
baby!

The unit is great for checking ampli-
fiers of all sorts. It provides a square-
wave output that is rich in hamonic
content. The circuit’s output frequency
can be varied from 50 Hz 1015 kHz. The
heart of the circuit is a 5565 astable

connected in its equal mark/space
mode. The frequency is controlled by
potentiometer R2 and capacitor C1.

Resistor R3 controls the output level
with the output AC coupled through
Cs.

To prevent stray radiation from get-
ting into the circuit, it should be housed
in a metal box and the output fed
through a length of coaxial cable.
Since the current drain is small, the unit
should run for months (depending on
use) with a nine-volt transistor-radio
battery.

—Frank Pierce, Sioux Falls, SD

Thanks to you, Frank. This is exactly
the sort of thing we’re looking for. Sim-
ple. short, and sweet—and useful.
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Fig. 4. The Signal Injector, although
rather basic in design, is one of the
most useful troubleshooting aids. When
used in conjunction with an voltmeter
or oscilloscope, it makes short work

of troubleshooting circuits down to

the component level.
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Fig. 5—The Coin Tosser consists of a 555 oscillator/timer feeding a 7474 dual
J-K masterislave flip-flop that's configured as a divide-by-two counter.

Coin Tosser. Sure, you could sit there
flicking a coin into the air then catch-
ing it and slopping it on your wrist—
that’s the traditional way. But this is an
age where we live on the cutting edge
of technology. The box in which the
circuit is built has a pair of LED's la-
belled HeaDs and TaiLs. There's also a
push-button switch (see Fig. 5) la-
belled 1oss. When you press the 10ss
button, one of the two lights randomly
lights, indicating heads or tails.
Integrated W is a 555 configured as
a free-running oscillator. The oscillator
is enabled or inhibited by S1, the 10ss
switch, which is connected to the reset
terminal of U at pin 4. The frequency is
set for about 100 kHz. so that in the 0.5
second that the button may be
pressed. about 50,000 pulses are pro-
duced.
Those pulses are fedto U2, a 7474 J-
K master-slave flip-flop, with comple-
mentary outputs. Connected as
shown, it becomes a divide-by-two
counter, so one and only one of its out-
puts will be at binary 1. the other at
binary 0. Which output is at binary 1
depends on whether the number of
(Continued from page 103)





